
   DESCRIPTION
1

2

3

4

5

6

7

8

9

10

11

12

13

14

ID. QTY.
Platform base support 

Platform  

Higher crowbar 

Lower crowbar 

Rubber grip 

M6x40 screw DIN7985 

M6 Blind nut DIN1587 

Plastic cylinder 

M12 Flat washer DIN125A 

security ring 

M20 washer DIN125A 

Security barrette 

Plastic cap 

Non-skid rubber

1

1

1

1

1

1

1

1

1

1

1

1

4

1

 STAND OFF-ROAD BASIC

 MOUNTING INSTRUCTIONS 

Ref.: 6289N

3

1

2

2910

6

7

4

13

12

11

5

14

Check out an excellent selection of motorcycle stands & lifts we offer on our website.

https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/stands-lifts.html

